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Solution served as a suggestion only

Mr. Lim
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Solution served as a suggestion only

=x
Secxtanx = tant

= seex

A = 2 secx(secy +anx)

= 2)(a)



= cl)(b) +2(
When X = o y = 0

=

= 1

a = 0

:

y : zx + tX
*
+...



In (x) = Ex + Ex
*
+...

in (12) = (()+ t()"+...

InS

to it to it

So In (secx)dx = %
.

Ex + + x dx

= 0 . 0052187

~ 0 . 005219



B = (5) + (-y) = (-)

[2) + oi = ( -)
i = (,)

Ap = (=) + (a) =(c) = (j) + (2) = (a)
l ) = /B

4 + (d-5) = 16 + (d-85

- 10d + 25 = 12 + 64 - 16d

6d = 51

a = = =



=1) = (i)
COSKADB = (i)
/
:

4 ADB = 83 .80
#



Solution served as a suggestion only

B (1
,

- 2
, 8)

Let m be the midpoint of AB
- =

D (1 ,
2
,
1) pi

=

⑭ 2m = (5) + (2) = (i)
-

A ( -1 ,
2
,
5) = (2)

mp = (i) + (2) = (2)

lpp : r = (i) + (2)x ,

where xEIR Let point P be (e)
= (2)+) = (E) i = (

radius : 15p : /Fi

((4 +2x) + 12 +2x = ja
18 x = - 65/4

x =
-5/72

:p = E



Solution served as a suggestion only

= 4t 21 = 2+
2
+3

t = 3 = +x5

Area : Sy dx

= C 15t-4t) A

=p[-]
= 4((45 - 8) - 15-5)
=

= 162 units



x = 5(y)
xy = 2

sub in

(2 +2 + 3)(5t -1) = 20

10t3 - 2t + 15t - 23 =0

(t - 1) (10 +2 + At + 23) = 0

-: -2 = A-10

A = S

10 t + 8 + + 23
= 0

D : 62 - 492

= 64 - 4(10)(23)

= - 8560

: t = 1 is the only real root , hence
there is

no other point of intersection .

At point A , t = 1 x = 5
, y

= 4

: A(5 , 4) /



*It = 5 :

Eq of tangent : y-4 = (X-5)

y = X - 4

subin = (5n) -
4 = -Gu
2542 -94 - 16 = 0

u= 1 or u = -

coordinate 1-1 , -) *



135791113151719212325272931 ...

246810121416 18 20 22 ...

3691215182124 ...
6 12 1824 3036

A & B and A & D

P(A) = E P(c)=3
: P(Anc) = 5

An C = odd and multiple of 3
=I

= 3
,
9
,
15
,
21
,
27
,
33 = P(a) X P(B)

- A & C are independent events .

B & C are also independent events.



A & B and A & D

↑ (A) = 5 p(c) = 5

P(Anc) = + ***

↓ A & C are not independent events .



b

e
(r-3)9 = 4(b-8)

9r - 27 = 4b - 32

9r + 5 = 46

-
is!d

(r-2) 10 = 3(b-9)[]
100 - 20 = 56- 45

100 - 56 = - 25 3
solve

90 - 4b
= -5 r= 15 b = 35

Prob:"
= 0 . 05155 = 0 001



Solution served as a suggestion only



v = 0 . 9281

v = 0 . 9697

e = CX + d is a better fit because r is closer to 1
.



Y
e = 375 . 615x - 1881 . 4818

X = 24

e = 7133 . 2836

y = 8 . 8725

~ 8 . 87 million subscriptions

The estimate is not reliable because 2024 is out of the data range,

and from the data , we can see the number of subscriptions

dropped from 2016 to 2018. If were this line ,
we assuming

the number of subcription will keep increasing with
time

,
which

is incorrect.



null hypothesis Ho : M =

alternative hypothesis H : M + 1 M is the population mean weight of granulated sugar.

① Since the distribution of the weight of each bag of sugar is unknown,

hence taking a sample of 10 bags of the sugar is insufficient for the sample

mean weight to follow a normal distribution.

② Selecting the Pt bag
in the morning and afternoon also means the bags

are not selected at random . Hence
,
the weight may be more

consistent resulting

in a blased testing results.



x = = = 1 .9725= 559(155 . 6746- 7885,
-000

Ho : M = 2

H ,: M
< 2

Under Ho
,
since his large , by CLT

. XWN)2 , 2000) approx

Test Stat : ==
critical region : Reject

Ho if z < -1 . 9599

#19599
0 <X 1 . 98

Reject Ho and conclude that there is
sufficient

evidence at 2. 5% level of significance that the mean

weight of sugar is less than 2 kg.



LvN (1 .82 , 0 .22

P(( < 1. 79) = 0 . 44038 = 0 .440
#

L + Le + ... + Lg ~N(14 . 56
,
0 .32)

↑ (L , +... + (g > 14 · 5) = 0 . 5422

~ 0 . 542
*

R ~ N /1 . 22 , 0 .3)

P (R> 1 .25) = 0 . 460172

Expected # : 55 . 22. : 55 planks

w = L
,
+

.

..
+ 10 ~N (18 . 2 , 0 . 4)

P = R , +... + Ris N(19 . 52
,

1
. 44)

W - p v N( - 1 . 32
,

1 . 84)

p) (w - p((0 .65) = 4( - 0 . 65 < w -p(0 . 65)
= 0 . 2374

~ 0 . 237



A= N(5)
B = E - N(0 ,o)

(A - B) -N/ -50
P(A - B > 0) = 0 . 49189

~ 0 . 492

The probability will be lower as longer planks require more

cut thanregular planks , hence more wastage and so the probability

that the short planks is longer than the one made from regular planks

will be lower.



& The probability that the ornaments turn out to be faulty is

constant for each ornaments.

② The event that an ornament turn out to be faulty is independent of

the other ornament.

X - B(50 , 0 .04)

E(X) = 50(0 . 04) = 2

Var(x) = 50(0 . 04) (1 - 0 .04) = 1 . 92

-

: difference : 2-1 .92 = 0 . 08 A

P(x = 2)
= 0 . 676714

~ 0 . 677
*



Solution served as a suggestion only

let W be r .v . denoting # of days in a 5-day week that no more than
2 faulty ornaments are produced.

WrB(5
,
0 . 676714)

P(w >, 3) = 1- p(WE2)
= 0 . 80478

~ 0 . 805 A

Let Y denote # of faulty ornaments in 5 days.

Y -B(250 , 0 .04)

P(y = 10) = 0 . 58305

~ 0 . 583 #



X - B(6
,
1- P)

Prob Mr Lu accept : P(X(1) = P(X =0) + P(x = 1)
= p + 6(1-p)(p)5

Y~B(3 , 1-P)

Prob Mrs Ming accept : P(Y = 0) + P(y= 1) P(y= 0)

= p3 + 3(1 - p)(p)p3
= p + 3(1- p)p5

p3+ 3( - p)p5 - [p" + 6(1- p)p5) = p- po
- 3(-p)p5

= p - p - 3p + 3p
= 2p"-3p5 + p3 > 0 for O<p(1 from G . 2.

Mrs Ming accepts more boxes.


